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EMBAAO OPO®OY
E=30,5"24,75-15,1*13,4-4,95%9,15=507,24 1.p.

EMBAAO HMIYTNAIOPION XQPON
H.X.1 E=15,10%4,25=59,61 1.4

EMBAAO EZQ3TH
E=4,8"1,8+3"1,8=14,041.p.

OrKOz 1Z0rEIOY
0=578,74"3,10=1.794,09K.p.

EAAHNIKH AHMOKPATIA

NOMOZ IQANNINQN

AHMOZ ZITZAZ

AIEYOYNZH TEXNIKQN YINMHPEZIQN
NMOAEOAOMIAZ KAI MEPIBAAAONTOZ

EPFOAOTHz2:

AHMOZ ZITZAZ

EPro:

NMPOZOHKH OPO®OY :TO AHMAPXIAKO KATAZTHMA
THX A.K. EAEOYZAX TOY AHMOY ZITZAZ

OEZH: O.T. 100 ENMEKTAZHZ P.Z. ZYNOIKIZMQY
A.K. EAEOYZAZ AHMOQY ZITZAZ
APIOMOZ
OEMA IXEAIOQY: SXEAIOY A4
KATOWH A OPO®OY KAIMAKA
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XPONOX MEAETHZI : IANOYAPIOZ 2019
IQANNINA / /2019 IQANNINA / /2019
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O AN. MPOISTAMENOSE -
AIEYOYNZHE HZYNTAZAZA
STAOHS STAYPOS TZIATOYPA AAAMANTIA
HAEK/FOS MHX/KOS MOAITIKOE MHXANIKOS
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